Open/Responder /Rebid Pts(Bal) TRFs GS Pass 2NT GM 3NT Quant Gerb Staym
1d0-24, no INF (8 Pts-2NT) 17-19 0+2 No 2B 3 4+ 5+ 11 11 (3)4/5/6CM

GF Puppet Stayman (forcing to game), after re-bid ZNT, 20-22+, balanced, could have a 5/4CM, systems “On”
System Flow, First Use of NT, 17-19 Pts 2NT Rebid with Puppet Stayman

2NT, GF 17-19 Pts Balanced (First Use) with R’s Push, 8 Pts And so...with a fit
Pass, the 5CM Bid with 6 Pts
l 49, the fit in Hearts with 7 Pts
y e 4@, the fit in Spades with 7 Pts
34 GF Stayman for 5/4CM (A) with 8+Pts [ 39.5,'33’ 5 SC-M J/ 3NT, no fit sign-off
Have you got a 5CM? | have AL a 3CM

v

No 5CM, but has 4CM

34, no 5+CM, | have a 4CM
No 5CM, and no 4CM 39, No 4CM, in Hearts
3NT, no 5CM, no 4CM, SO 3@, No 4CM in Spades

/

And so...sign -off
49, the fit in Hearts

4@, the fit in Spades
3NT, no fit SO

Puppet tells what he doesn’t have




